Answers to selected questions 

Chapter 2

Q6.  A speedometer measures instantaneous speed, not average speed.  It shows the speed at any instant in time.

Q12.  No.  If the speed changes, the velocity must change also because the speed is the magnitude of the velocity.

Q18.  a. Yes.  The velocity is constant between 0 and 2 s where the graph shows a horizontal line.


 b. The acceleration is greatest between 2 s and 4 s where the graph has the steepest slope.

Q24.   No. This relationship holds only when the acceleration is constant.
Q30.  The second runner has the larger maximum speed because she reaches full speed at a later time and must run faster to catch up.

